

On generalized asymptotically equivalent double sequences through (V, λ, μ) –summability

Kavita

*Department of Mathematics
Haryana College of Technology and Management
Kaithal-136027, Haryana, India
kukreja.kavita90@gmail.com*

Archana Sharma

*Department of Mathematics
Haryana College of Technology and Management
Kaithal-136027, Haryana, India
manjue_kaushik@yahoo.com*

Vijay Kumar*

*Department of Mathematics
Haryana College of Technology and Management
Kaithal-136027, Haryana, India
vjy_kaushik@yahoo.com*

Abstract

The purpose of this work is to introduce new generalizations of asymptotically equivalent double sequences which we call $S_{(\lambda, \mu)}$ –equivalent, $V_{(\lambda, \mu)}$ –equivalent, $C_{(1,1)}$ –equivalent, through (V, λ, μ) –summability, and obtain some relevant connections between these notions.

Received May 5, 2012

Accepted in final form October 19, 2012

Communicated with Marián Grendár.

Keywords Statistical convergence, λ –statistical convergence, double sequences, asymptotic equivalence, (V, λ, μ) –summability.

MSC(2010) 40D25, 40B05.

1 The first section

Marouf [1] introduced notion of asymptotically equivalent sequences in order to comparing the rate of growth of two sequences. Later, the idea is applied on many problems arising in the field of summability theory. In 2003, Patterson [2] presented statistical analogue of asymptotically equivalent sequences and studied some of their properties via statistical summability. Subsequently, many authors have shown their interest on asymptotically equivalent sequences in different directions (see [3], [4], [5], [6] and [7]). In present work we extend the idea of asymptotically equivalent double sequences through (V, λ, μ) –summability and obtain some results. We begin by recalling some definitions and results which form the base for present study.

*corresponding author

Definition 1. [1] The two non-negative sequences $x = (x_k)$ and $y = (y_k)$ are said to be asymptotically equivalent to a number L (denoted by $x \sim y$) provided that

$$\lim_{k \rightarrow \infty} \left(\frac{x_k}{y_k} \right) = L$$

In case, $L = 1$ we simply say x is equivalent to y .

Definition 2. [8] A number sequence $x = (x_k)$ is said to be statistically convergent to a number L provided that for every $\epsilon > 0$,

$$\lim_{n \rightarrow \infty} \frac{1}{n} |\{k \leq n : |x_k - L| \geq \epsilon\}| = 0;$$

where $|\{A\}|$ denotes the cardinality of a sets A , and $|a|$ denotes the absolute value of a number a . In this case, we write $S - \lim_{k \rightarrow \infty} x_k = L$ or $x_k \rightarrow L(S)$.

The next definition is a natural combination of Definition 1.1 and 1.2.

Definition 3. [2] The two non-negative sequences $x = (x_k)$ and $y = (y_k)$ are said to be asymptotically statistically equivalent of multiple L provided that for every $\epsilon > 0$

$$\lim_{n \rightarrow \infty} \frac{1}{n} \left| \left\{ k \leq n : \left| \left(\frac{x_k}{y_k} \right) - L \right| \geq \epsilon \right\} \right| = 0,$$

(denoted by $x \sim^S y$) and simply asymptotically statistical equivalent if $L = 1$.

Let $\lambda = (\lambda_n)$ be a non decreasing sequence of positive real numbers tending to ∞ with $\lambda_{n+1} \leq \lambda_n + 1, \lambda_1 = 1$. The generalized de la Vallée Pousin mean of $x = (x_k)$ is defined by

$$t_n(x) = \frac{1}{\lambda_n} \sum_{k \in I_n} x_k,$$

where $I_n = [n - \lambda_n + 1, n]$.

A sequence $x = (x_k)$ is said to be (V, λ) -summable to a number L (see [9]) provided that $t_n(x) \rightarrow L$ as $n \rightarrow \infty$. It is being noted that if we take $\lambda_n = n$, then (V, λ) -summability reduces to $(C, 1)$ - summability.

Definition 4. [10] Let $\lambda = (\lambda_n)$ be a sequence as described above. A number sequence $x = (x_k)$ is said to be λ -statistically convergent to a number L provided that for every $\epsilon > 0$

$$\lim_{n \rightarrow \infty} \frac{1}{\lambda_n} |\{k \in I_n : |x_k - L| \geq \epsilon\}| = 0.$$

In this case, we write $S_\lambda - \lim_{k \rightarrow \infty} x_k = L$ or $x_k \rightarrow L(S_\lambda)$.

The next definition is a natural combination of Definition 1.1 and 1.4.

Definition 5. [11] The two non-negative sequences $x = (x_k)$ and $y = (y_k)$ are said to be asymptotically λ -statistically equivalent of multiple L provided that for every $\epsilon > 0$

$$\lim_{n \rightarrow \infty} \frac{1}{\lambda_n} \left| \left\{ k \in I_n : \left| \left(\frac{x_k}{y_k} \right) - L \right| \geq \epsilon \right\} \right| = 0,$$

(denoted by $x \sim^{S_\lambda} y$) and simply asymptotically λ -statistical equivalent if $L = 1$.

Definition 6. [11] Let $\lambda = (\lambda_n)$ be a non decreasing sequence as described above. The two non-negative sequences $x = (x_k)$ and $y = (y_k)$ are said to be strongly asymptotically λ -equivalent of multiple L provided that for every $\epsilon > 0$

$$\lim_{n \rightarrow \infty} \frac{1}{\lambda_n} \sum_{k \in I_n} |x_k - L| = 0,$$

(denoted by $x \sim^{(V, \lambda)} y$) and simply strongly asymptotically λ -equivalent if $L = 1$.

By convergence of a double sequence we mean convergence in the Pringsheim's sense [12] as given follow: A double sequence $x = (x_{ij})$ of numbers is said to be convergent to a number L (in the Pringsheim's sense) provided for each $\epsilon > 0$, there exists a positive integer m such that

$$|x_{ij} - L| < \epsilon \quad \text{whenever } i, j \geq m.$$

In this case, the number L is called the Pringsheim's limit of (x_{ij}) and we write $P - \lim_{i, j \rightarrow \infty} x_{ij} = L$. Further, a double sequence $x = (x_{ij})$ is said to be bounded if there exists a positive number M such that $|x_{ij}| \leq M$ for all i, j , i.e., if $\|x\|_{(2, \infty)} = \sup_{i, j} |x_{ij}| < \infty$. It is remarkable that, in contrast to the case for single sequences, a convergent double sequence need not be bounded. Let l_2^∞ denotes the space of all bounded sequences of numbers. Mursaleen *et al.* [13] presented extension of Pringsheim's limit in term of statistical convergence for double sequences as follows:

Definition 7. [13] A double sequence $x = (x_{ij})$ of numbers is said to be statistically convergent to a number L provided for each $\epsilon > 0$

$$P - \lim_{n, m \rightarrow \infty} \frac{1}{nm} |\{i \leq n, j \leq m : |x_{ij} - L| \geq \epsilon\}| = 0.$$

In this case, the number L is called the statistical limit of x and we write $S(P) - \lim_{i, j \rightarrow \infty} x_{ij} = L$.

Definition 8. [6] The two non-negative double sequences $x = (x_{ij})$ and $y = (y_{ij})$ of numbers are said to be asymptotically statistically equivalent of multiple L provided that for every $\epsilon > 0$,

$$P - \lim_{n, m \rightarrow \infty} \frac{1}{nm} \left| \left\{ i \leq n, j \leq m : \left| \frac{x_{ij}}{y_{ij}} - L \right| \geq \epsilon \right\} \right| = 0,$$

(denoted by $x \sim^{S(P)} y$) and simply asymptotically statistical equivalent if $L = 1$.

Let $S(P)$ denotes the set of all sequences $x = (x_{ij})$ and $y = (y_{ij})$ such that $x \sim^{S(P)} y$.

Let $\lambda = (\lambda_n)$ and $\mu = (\mu_m)$ be two non decreasing sequences of positive real numbers tending to ∞ with

$$\lambda_{n+1} \leq \lambda_n + 1, \lambda_1 = 1 \text{ and}$$

$$\mu_{m+1} \leq \mu_m + 1, \mu_1 = 1.$$

The generalized de la Vallée Pousin mean of $x = (x_{ij})$ is defined by

$$t_{mn}(x) = \frac{1}{\lambda_n \mu_m} \sum_{(i, j) \in I_n \times I_m} x_{ij},$$

where $I_n = [n - \lambda_n + 1, n]$ and $I_m = [m - \mu_m + 1, m]$.

A double sequence $x = (x_{ij})$ is said to be (V, λ, μ) -summable to a number L provided that $t_{mn}(x) \rightarrow L$ as $m, n \rightarrow \infty$. As in case of single sequences, if we choose $\lambda_n = n$ and $\mu_m = m$, then (V, λ, μ) -summability reduces to $(C, 1, 1)$ -summability. Let,

$$[C, 1, 1] = \left\{ x = (x_{ij}) : \exists L \in \mathbb{R}, P - \lim_{m, n \rightarrow \infty} \frac{1}{mn} \sum_{i=1, j=1}^{m, n} |x_{ij} - L| = 0 \right\} \text{ and}$$

$$[V, \lambda, \mu] = \left\{ x = (x_{ij}) : \exists L \in \mathbb{R}, P - \lim_{m, n \rightarrow \infty} \frac{1}{\lambda_n \mu_m} \sum_{(i, j) \in I_n \times I_m} |x_{ij} - L| = 0 \right\}.$$

Definition 9. [14] Let $\lambda = (\lambda_n)$ and $\mu = (\mu_m)$ as described above. A double sequence $x = (x_{ij})$ of numbers is said to be (λ, μ) -statistically convergent to a number L provided for every $\epsilon > 0$,

$$P - \lim_{n, m \rightarrow \infty} \frac{1}{\lambda_n \mu_m} |\{(i, j) \in I_n \times I_m : |x_{ij} - L| \geq \epsilon\}| = 0.$$

In this case, the number L is called (λ, μ) -statistical limit of the sequence $x = (x_{ij})$ and we write $S_{(\lambda, \mu)}(P) - \lim_{i, j \rightarrow \infty} x_{ij} = L$.

We now consider some new kind of asymptotically equivalent double sequences defined through $[V, \lambda, \mu]$ -summability.

2 Main Results

Definition 10. The two double sequences $x = (x_{ij})$ and $y = (y_{ij})$ are said to be asymptotically Cesàro equivalent of multiple L (denoted by $x \sim^{C(1,1)} y$) provided that

$$P - \lim_{n, m \rightarrow \infty} \frac{1}{nm} \sum_{i=1, j=1}^{m, n} \left| \frac{x_{ij}}{y_{ij}} - L \right| = 0.$$

In case $L = 1$, we simply say x is asymptotically Cesàro equivalent to y .

Let $C_{(1,1)}$ denotes the set of all sequences $x = (x_{ij})$ and $y = (y_{ij})$ such that $x \sim^{C(1,1)} y$.

Definition 11. Let p be a positive real number. The two double sequences $x = (x_{ij})$ and $y = (y_{ij})$ are said to be strongly asymptotically p -Cesàro equivalent of multiple L (denoted by $x \sim^{C^p(1,1)} y$) provided that

$$P - \lim_{n, m \rightarrow \infty} \frac{1}{nm} \sum_{i=1, j=1}^{m, n} \left| \frac{x_{ij}}{y_{ij}} - L \right|^p = 0.$$

In case $L = 1$, we simply say x is strongly asymptotically p -Cesàro equivalent to y .

Let $C_{(1,1)}^p$ denotes the set of all sequences $x = (x_{ij})$ and $y = (y_{ij})$ such that $x \sim^{C^p(1,1)} y$.

Remark 12. If $0 < p \leq q < \infty$, then $C_{(1,1)}^q \subseteq C_{(1,1)}^p$ and

$$C_{(1,1)}^p \cap l_2^\infty = C_{(1,1)}^1 \cap l_2^\infty = C_{(1,1)} \cap l_2^\infty.$$

Theorem 13. Let p be a positive real number such that $p \in (0, \infty)$, then $C_{(1,1)}^p \subseteq S(P)$.

Proof. Let $p \in (0, \infty)$ and $x = (x_{ij})$ and $y = (y_{ij})$ be two double sequences such that $x \sim_{C_{(1,1)}^p} y$. For any $\epsilon > 0$, if we take

$$K_{mn} = \left\{ (i, j), i \leq n, j \leq m : \left| \frac{x_{ij}}{y_{ij}} - L \right|^p \geq \epsilon \right\},$$

then we can write

$$\begin{aligned} \frac{1}{nm} \sum_{i=1, j=1}^{m, n} \left| \frac{x_{ij}}{y_{ij}} - L \right|^p &= \frac{1}{nm} \left\{ \sum_{(i,j) \in K_{mn}} \left| \frac{x_{ij}}{y_{ij}} - L \right|^p + \sum_{(i,j) \notin K_{mn}} \left| \frac{x_{ij}}{y_{ij}} - L \right|^p \right\} \\ &\geq \frac{1}{nm} \left\{ \sum_{(i,j) \in K_{mn}} \left| \frac{x_{ij}}{y_{ij}} - L \right|^p \right\} \\ &\geq \frac{1}{nm} \left| \left\{ (i, j), i \leq n, j \leq m : \left| \frac{x_{ij}}{y_{ij}} - L \right|^p \geq \epsilon \right\} \right|. \end{aligned}$$

Since $x \sim_{C_{(1,1)}^p} y$, it follows that $x \sim_{S^{(P)}} y$. □

Theorem 14. Let p be a positive real number such that $p \in (0, \infty)$, then $S(P) \cap l_2^\infty \subseteq C_{(1,1)}^p$.

Proof. Let $p \in (0, \infty)$ and $x = (x_{ij}), y = (y_{ij}) \in l_2^\infty$ such that $x \sim_{S^{(P)}} y$. Since $x = (x_{ij}), y = (y_{ij}) \in l_2^\infty$ so there is a real number M (say) such that for every i and j we have

$$\left| \frac{x_{ij}}{y_{ij}} - L \right| \leq M.$$

Since $x \sim_{S^{(P)}} y$ so for given $\epsilon > 0$ and enough large m and n we can write

$$\begin{aligned} \frac{1}{nm} \sum_{i=1, j=1}^{m, n} \left| \frac{x_{ij}}{y_{ij}} - L \right|^p &= \frac{1}{nm} \left\{ \sum_{\substack{i=1, j=1: \\ \left| \frac{x_{ij}}{y_{ij}} - L \right| \leq \epsilon}} \left| \frac{x_{ij}}{y_{ij}} - L \right|^p + \sum_{\substack{i=1, j=1: \\ \left| \frac{x_{ij}}{y_{ij}} - L \right| > \epsilon}} \left| \frac{x_{ij}}{y_{ij}} - L \right|^p \right\} \\ &\leq (\epsilon)^p + \frac{M^p}{nm} \left| \left\{ i \leq n, j \leq m : \left| \frac{x_{ij}}{y_{ij}} - L \right| \geq \epsilon \right\} \right| \\ &\leq 2\epsilon^p \end{aligned}$$

This shows that $x \sim_{C_{(1,1)}^p} y$. □

Definition 15. Let $\lambda = (\lambda_n)$ and $\mu = (\mu_m)$ be two non decreasing sequences of positive real numbers such that each tending to ∞ with

$$\lambda_{n+1} \leq \lambda_n + 1, \lambda_1 = 1 \text{ and}$$

$$\mu_{m+1} \leq \mu_m + 1, \mu_1 = 1.$$

The two non-negative double sequences $x = (x_{ij})$ and $y = (y_{ij})$ are said to be asymptotically (λ, μ) -statistically equivalent of multiple L (denoted by $x \sim^{S(\lambda, \mu)} y$) provided that for every $\epsilon > 0$,

$$P - \lim_{n, m \rightarrow \infty} \frac{1}{\lambda_n \mu_m} \left| \left\{ (i, j) \in I_n \times I_m : \left| \frac{x_{ij}}{y_{ij}} - L \right| \geq \epsilon \right\} \right| = 0.$$

In case $L = 1$, we simply say x is asymptotically (λ, μ) -statistically equivalent to y .

Let $S_{(\lambda, \mu)}$ denotes the set of all sequences $x = (x_{ij})$ and $y = (y_{ij})$ such that $x \sim^{S(\lambda, \mu)} y$. For the choose $\lambda_n = n$ and $\mu_m = m$, Definition 2.6 coincides with Definition 1.8.

Definition 16. Let $\lambda = (\lambda_n)$ and $\mu = (\mu_m)$ be two sequences as in Definition 2.6. The two double sequences $x = (x_{ij})$ and $y = (y_{ij})$ are said to be strongly asymptotically (λ, μ) -equivalent of multiple L (denoted by $x \sim^{V(\lambda, \mu)} y$) provided that

$$P - \lim_{n, m \rightarrow \infty} \frac{1}{\lambda_n \mu_m} \sum_{(i, j) \in I_n \times I_m} \left| \frac{x_{ij}}{y_{ij}} - L \right| = 0.$$

In case $L = 1$, we simply say x is strongly asymptotically (λ, μ) -equivalent to y .

Let $V_{(\lambda, \mu)}$ denotes the set of all sequences $x = (x_{ij})$ and $y = (y_{ij})$ such that $x \sim^{V(\lambda, \mu)} y$.

Theorem 17. Let $\lambda = (\lambda_n)$ and $\mu = (\mu_m)$ be two sequences as describe above, then we have following:

(i) $x \sim^{V(\lambda, \mu)} y$ implies $x \sim^{S(\lambda, \mu)} y$ and the inclusion $V_{(\lambda, \mu)} \subset S_{(\lambda, \mu)}$ is proper.

(ii) If $x = (x_{ij})$, $y = (y_{ij}) \in l_2^\infty$ such that $x \sim^{S(\lambda, \mu)} y$, then $x \sim^{V(\lambda, \mu)} y$ and hence $x \sim^{C(1, 1)} y$ provided $x = (x_{ij})$ is not eventually constant.

(iii) $S_{(\lambda, \mu)} \cap l_2^\infty = V_{(\lambda, \mu)} \cap l_2^\infty$.

Proof.

(i) Suppose $x = (x_{ij})$ and $y = (y_{ij})$ be two double sequences such that $x \sim^{V(\lambda, \mu)} y$. For any $\epsilon > 0$, we can write

$$\begin{aligned} \sum_{(i, j) \in I_n \times I_m} \left| \frac{x_{ij}}{y_{ij}} - L \right| &\geq \sum_{\substack{(i, j) \in I_n \times I_m \\ \left| \frac{x_{ij}}{y_{ij}} - L \right| \geq \epsilon}} \left| \frac{x_{ij}}{y_{ij}} - L \right| \\ &\geq \epsilon \left| \left\{ (i, j) \in I_n \times I_m : \left| \frac{x_{ij}}{y_{ij}} - L \right| \geq \epsilon \right\} \right|. \end{aligned}$$

Since $x \sim^{V(\lambda, \mu)} y$, so $P - \lim_{n, m \rightarrow \infty} \frac{1}{\lambda_n \mu_m} \left| \left\{ (i, j) \in I_n \times I_m : \left| \frac{x_{ij}}{y_{ij}} - L \right| \geq \epsilon \right\} \right| = 0$. This shows that $x \sim^{S(\lambda, \mu)} y$.

We next give an example that shows the containment $V_{(\lambda, \mu)} \subset S_{(\lambda, \mu)}$ is proper. Define sequences $x = (x_{ij})$ and $y = (y_{ij})$ as follows:

$$x_{ij} = \begin{cases} ij, & \text{if } n - [\sqrt{\lambda_n}] + 1 \leq i \leq n \quad \text{and} \quad m - [\sqrt{\mu_m}] + 1 \leq j \leq m \\ 0 & \text{otherwise} \end{cases}$$

and $y_{ij} = 1$ for all i and j .

Then $x = x_{ij} \notin l_2^\infty$ and for every $\epsilon(0 < \epsilon \leq 1)$ we have

$$\begin{aligned} & \frac{1}{\lambda_n \mu_m} \left| \left\{ (i, j) \in I_n \times I_m : \left| \frac{x_{ij}}{y_{ij}} - 0 \right| \geq \epsilon \right\} \right| \\ &= \frac{1}{\lambda_n \mu_m} \left| \left\{ (i, j) \in I_n \times I_m : \begin{matrix} n - [\sqrt{\lambda_n}] + 1 \leq i \leq n \\ m - [\sqrt{\mu_m}] + 1 \leq j \leq m \end{matrix} \right\} \right| \\ & \leq \frac{[\sqrt{\lambda_n} \sqrt{\mu_m}]}{\lambda_n \mu_m}. \end{aligned}$$

It follows that

$$P - \lim_{n, m \rightarrow \infty} \frac{1}{\lambda_n \mu_m} \left| \left\{ (i, j) \in I_n \times I_m : \left| \frac{x_{ij}}{y_{ij}} - 0 \right| \geq \epsilon \right\} \right| = P - \lim_{n, m \rightarrow \infty} \frac{[\sqrt{\lambda_n} \sqrt{\mu_m}]}{\lambda_n \mu_m} = 0.$$

This shows that $x \sim^{S(\lambda, \mu)} y$. Also note that

$$P - \lim_{n, m \rightarrow \infty} \frac{1}{\lambda_n \mu_m} \sum_{(i, j) \in I_n \times I_m} \left| \frac{x_{ij}}{y_{ij}} - 0 \right|$$

does not exist. Thus the inclusion $V_{(\lambda, \mu)} \subset S_{(\lambda, \mu)}$ is proper.

(ii) Let $x = (x_{ij}), y = (y_{ij}) \in l_2^\infty$ such that $x \sim^{S(\lambda, \mu)} y$. Since $x = (x_{ij}), y = (y_{ij}) \in l_2^\infty$ so there is a real number M (say) such that for every i and j we have

$$\left| \frac{x_{ij}}{y_{ij}} - L \right| \leq M.$$

Also for given $\epsilon > 0$ and enough large m and n we can write

$$\begin{aligned} \frac{1}{\lambda_n \mu_m} \sum_{(i, j) \in I_n \times I_m} \left| \frac{x_{ij}}{y_{ij}} - L \right| &= \frac{1}{\lambda_n \mu_m} \sum_{\substack{(i, j) \in I_n \times I_m \\ \left| \frac{x_{ij}}{y_{ij}} - L \right| \geq \epsilon}} \left| \frac{x_{ij}}{y_{ij}} - L \right| + \frac{1}{\lambda_n \mu_m} \sum_{\substack{(i, j) \in I_n \times I_m \\ \left| \frac{x_{ij}}{y_{ij}} - L \right| < \epsilon}} \left| \frac{x_{ij}}{y_{ij}} - L \right| \\ &\leq \frac{M}{\lambda_n \mu_m} \left| \left\{ (i, j) \in I_n \times I_m : \left| \frac{x_{ij}}{y_{ij}} - L \right| \geq \epsilon \right\} \right| + \epsilon. \end{aligned}$$

Since $x \sim^{S(\lambda, \mu)} y$, it follows that the first part on right side of the above expression is zero, which immediately gives $x \sim^{V(\lambda, \mu)} y$.

Furthermore, using the fact $\left(\frac{\lambda_n}{n}\right) \leq 1$ and $\left(\frac{\mu_m}{m}\right) \leq 1$, we have

$$\begin{aligned} \frac{1}{nm} \sum_{i=1, j=1}^{n, m} \left| \frac{x_{ij}}{y_{ij}} - L \right| &= \frac{1}{nm} \sum_{i=1, j=1}^{n-\lambda_n, m-\mu_m} \left| \frac{x_{ij}}{y_{ij}} - L \right| + \frac{1}{nm} \sum_{i=n-\lambda_n+1, j=m-\mu_m+1}^{n, m} \left| \frac{x_{ij}}{y_{ij}} - L \right| \\ &\leq \frac{1}{\lambda_n \mu_m} \sum_{i=1, j=1}^{n-\lambda_n, m-\mu_m} \left| \frac{x_{ij}}{y_{ij}} - L \right| + \frac{1}{\lambda_n \mu_m} \sum_{(i, j) \in I_n \times I_m} \left| \frac{x_{ij}}{y_{ij}} - L \right| \\ &\leq \frac{2}{\lambda_n \mu_m} \sum_{(i, j) \in I_n \times I_m} \left| \frac{x_{ij}}{y_{ij}} - L \right|. \end{aligned}$$

Since $x \sim^{V(\lambda, \mu)} y$, it follows that $x \sim^{C(1,1)} y$.

(iii) This immediately follows from (i) and (ii). \square

Theorem 18. Let $\lambda = (\lambda_n)$ and $\mu = (\mu_m)$ be two sequences as describe above. Then $S(P) \subset S_{(\lambda, \mu)}$ if and only if, $\liminf_{n \rightarrow \infty} \frac{\lambda_n}{n} > 0$ and $\liminf_{m \rightarrow \infty} \frac{\mu_m}{m} > 0$.

Proof. For given $\epsilon > 0$, we have

$$\left\{ (i, j) \in I_n \times I_m : \left| \frac{x_{ij}}{y_{ij}} - L \right| \geq \epsilon \right\} \subseteq \left\{ i \leq n, j \leq m : \left| \frac{x_{ij}}{y_{ij}} - L \right| \geq \epsilon \right\}.$$

Therefore,

$$\begin{aligned} \frac{1}{nm} \left| \left\{ i \leq n, j \leq m : \left| \frac{x_{ij}}{y_{ij}} - L \right| \geq \epsilon \right\} \right| &\geq \frac{1}{\lambda_n \mu_m} \left| \left\{ (i, j) \in I_n \times I_m : \left| \frac{x_{ij}}{y_{ij}} - L \right| \geq \epsilon \right\} \right| \\ &= \left(\frac{\lambda_n}{n} \right) \left(\frac{\mu_m}{m} \right) \frac{1}{\lambda_n \mu_m} \left| \left\{ (i, j) \in I_n \times I_m : \left| \frac{x_{ij}}{y_{ij}} - L \right| \geq \epsilon \right\} \right|. \end{aligned}$$

Taking limit as $n, m \rightarrow \infty$ and using the assumption, we get $S(P) \subset S_{(\lambda, \mu)}$.

Conversely, suppose that $x = (x_{ij})$, $y = (y_{ij})$ be two double sequences such that $x \sim^{S(P)} y$. Assume, either $\liminf_{n \rightarrow \infty} \frac{\lambda_n}{n}$ or $\liminf_{m \rightarrow \infty} \frac{\mu_m}{m}$ or both are zero. Then we can choose two subsequences (n_p) and (m_q) such that $\frac{\lambda_{n_p}}{n_p} < \frac{1}{p}$ and $\frac{\mu_{m_q}}{m_q} < \frac{1}{q}$. Define double sequences $x = (x_{ij})$ and $y = (y_{ij})$ as follows:

$$x_{ij} = \begin{cases} 1 & \text{if } i \in I_{n_p} \text{ and } j \in I_{m_q} \quad (p, q = 1, 2, 3, \dots) \\ 0 & \text{otherwise.} \end{cases}$$

and $y_{ij} = 1$ for all i and j . Then clearly $x \sim^{C(1,1)} y$ and therefore by Theorem 2.4, $x \sim^{S(P)} y$ which implies $x \sim^{S_{(\lambda, \mu)}} y$ as $S(P) \subset S_{(\lambda, \mu)}$. On the other hand the sequences $x = (x_{ij})$ and $y = (y_{ij})$ do not satisfy $x \sim^{V_{(\lambda, \mu)}} y$ which contradicts Theorem 2.8 (ii). Hence, we have $\liminf_{n \rightarrow \infty} \frac{\lambda_n}{n} > 0$ and $\liminf_{m \rightarrow \infty} \frac{\mu_m}{m} > 0$. \square

Definition 19. Let p be a positive real number. The two double sequences $x = (x_{ij})$ and $y = (y_{ij})$ are said to be strongly asymptotically $V_{(\lambda, \mu)}^p$ -equivalent of multiple L (denoted by $x \sim^{V_{(\lambda, \mu)}^p} y$) provided that

$$P - \lim_{n, m \rightarrow \infty} \frac{1}{\lambda_n \mu_m} \sum_{(i, j) \in I_n \times I_m} \left| \frac{x_{ij}}{y_{ij}} - L \right|^p = 0.$$

In case $L = 1$, we simply say x is strongly asymptotically $V_{(\lambda, \mu)}^p$ -equivalent to y .

Let $V_{(\lambda, \mu)}^p$ denotes the set of all sequences $x = (x_{ij})$ and $y = (y_{ij})$ such that $x \sim^{V_{(\lambda, \mu)}^p} y$.

Following Theorems are the analogue of Theorem 2.4 and 2.5, consequently their proofs can be obtained similarly.

Theorem 20. Let p be a positive real number such that $p \in (0, \infty)$, then $V_{(\lambda, \mu)}^p \subseteq S_{(\lambda, \mu)}^p$.

Theorem 21. Let p be a positive real number such that $p \in (0, \infty)$, then $S_{(\lambda, \mu)}^p \cap l_2^\infty \subseteq V_{(\lambda, \mu)}^p$.

Acknowledgements

The authors are thankful to the referees of the paper for their valuable suggestions.

References

- [1] M. Marouf, Asymptotic equivalence and summability, *Internet J. Math. Math. Sci.* **16(4)** (1993), 755–762.
- [2] R. F. Patterson, On asymptotically statistically equivalent sequences, *Demonstratio Math.* **36(1)** (2003), 149–153.
- [3] J. Li, Asymptotic equivalence of sequences and summability, *Internet J. Math. Math. Sci.* **20(4)** (1997), 749–758.
- [4] R. F. Patterson, E. Savaş, On asymptotically lacunary statistically equivalent sequences, *Thai J. Math.* **4(2)** (2006), 267–272.
- [5] M. Başarir, S. Altundağ, On asymptotically equivalent difference sequences with respect to a modulus function, *Ricerche di Matematica.* **60** (2011), 299–311.
- [6] A. Esi, On asymptotically double lacunary statistically equivalent sequences, *Applied Mathematics Letter.* **22** (2009), 1781–1785.
- [7] V. Kumar, A. Sharma, On asymptotically generalized statistical equivalent sequences via ideals, *Tamkang Journal of Mathematics (Accepted)*, (2011).
- [8] H. Fast, Sur la convergence statistique, *Colloq. Math.*, **2** (1951), 241–244.
- [9] L. Leindler, Über die de la Vallée-Pousinsche Summierbarkeit Allgemeiner Orthogonalreihen, *Acta Math. Acad. Sci. Hungar.* **16** (1965), 375–387.
- [10] M. Mursaleen, λ -Statistical convergence, *Math. Slovaca.* **50** (2000), 111–115.
- [11] V. Kumar, A. Sharma, On asymptotically λ - statistically equivalent sequences, *International Journal of Pure and Applied Mathematics (Accepted)*, (2011).
- [12] A. Pringsheim, Zur theorie der zweifach unendlichen Zahlenfolgen, *Math. Z.* **53** (1900), 289–321.
- [13] M. Mursaleen, O. H. H. Edely Statistical convergence of double sequences, *J. Math. Anal. Appl.* **288** (2003), 223–231.
- [14] M. Mursaleen, C. Çakan, S. A. Mohiuddine, E. Savaş, Generalized Statistical Convergence and Statistical Core of Double Sequences, *Acta Mathematica Sinica, English Series.* **26(11)** (2010), 2131–2144.